

### b) Maxwell Model

$$G(s) = \frac{\eta_0}{\lambda} e^{-s/\lambda}$$

$$\begin{aligned} \eta^- &= \int_t^\infty G(s) ds = \frac{\eta_0}{\lambda} \int_t^\infty e^{-s/\lambda} \left(-\frac{1}{\lambda} ds\right) \\ &= -\frac{\eta_0}{\lambda} \left. e^{-s/\lambda} \right|_t^\infty \\ &= -\frac{\eta_0}{\lambda} (0 - e^{-t/\lambda}) \end{aligned}$$

$$\boxed{\eta^-(t) = \eta_0 e^{-t/\lambda}}$$

c) GMM  $G(s) = \sum_{k=1}^N \frac{\eta_k}{\lambda_k} e^{-s/\lambda_k}$

$$\eta^-(t) = \int_t^\infty \sum_{k=1}^N \frac{\eta_k}{\lambda_k} e^{-s/\lambda_k} ds$$

$$= \sum_{k=1}^N \frac{\eta_k}{\lambda_k} \int_t^\infty e^{-s/\lambda_k} ds = \lambda_k e^{-t/\lambda_k} \text{ from above}$$

$$\boxed{\eta^-(t) = \sum_{k=1}^N \eta_k e^{-t/\lambda_k}}$$